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QUESTION 1

You want to use Labor Management. For which combination must you activate Labor Management?
A. Warehouse number and external process step

B. Warehouse number and internal process step

C. Warehouse number and warehouse process type

D. Warehouse number and labor activity

Correct Answer: B

QUESTION 2

Your customer has two warehouse numbers that share the same physical yard. How do you set up the yard to enable
yard management.

A. Define a storage type for a yard in both warehouse numbers, and connect the two storage types with a common
checkpoint.

B. Define a storage type for a yard in one of the warehouse numbers, and connect the yard with doors to the other
warehouse number.

C. Define a storage type for a yard in each warehouse number without any other settings.

D. Define a storage type for a yard in each warehouse number, and connect the two storage types with doors to each
other.

Correct Answer: B

QUESTION 3

To which of the following elements can you assign a storage process? Note: There are 2 correct answers to this
guestion.

A. Storage group

B. Activity area

C. Warehouse order creation rule
D. Warehouse process type

Correct Answer: CD

QUESTION 4
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What do you control with the business context for an exception code.?
A. The internal exception code that is assigned to it

B. The user groups that can use the exception code

C. The work environment in which you can use the exception code

D. The process that can use the exception code

Correct Answer: D

QUESTION 5

In process-oriented storage control, what can you use rule-based determination for?
A. To determine the processing time

B. To determine the destination storage bin

C. To determine the warehouse process type

D. To determine the HU type group

Correct Answer: B
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